
499962 - ETS 150/5 EQ 120V

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=currentImageAndPartli...

1 of 2 12/1/2020, 12:46 PM



Pos Part No. Description Quantity Price
each Excl

VAT

Price
incl
VAT

Currency

1 499967 Armature 1 $66.55 USD

2 493132 Field assembly 110-120V 1 $40.13 USD

3 486317 Switch attachment 1 $11.25 USD

4 --- See catalogue 1

5 492604 Socket housing 120V 1 $6.30 USD

6 342088 Raised-head screw 3,5 x 16 mm 4 $0.91 USD

7 492606 Housing cover 0150-05-01 1 $19.87 USD

8 499971 Electronic 1 $44.72 USD

9 491363 Brush holder (pair) 110V 1 $14.21 USD

10 463567 Motor housing 1 $12.66 USD

11 219075 Raised-head screw M4 x 16 4 $0.91 USD

13 450508 Rubber ring 1 $0.95 USD

14 228672 Ball bearing 1 $3.39 USD

15 462345 Air guide washer 110-120V 1 $2.71 USD

16 453316 Fan 230-240V 1 $1.49 USD

17 10027511 Bearing cover CLEANTEC 1 $26.55 USD

18 491312 Capacitor 1 $10.60 USD

19 219031 Raised-head screw 3,5 x 10 mm 2 $0.91 USD

20 455961 Flexible lead 1 $0.95 USD

21 401601 Ball bearing 1 $5.56 USD

22 400564 Snap ring 1 $0.91 USD

23 453374 Cover 1 $2.85 USD

24 498963 Aspirator 1 $70.56 USD

25 496380 Aspirator 0150-05-01 1 $48.28 USD

26 498964 Bearing bolt 1 $38.25 USD

27 453373 Cover 1 $5.04 USD

28 400257 Raised-head screw M4 x 25 4 $0.91 USD

29 701156 Collar 1 $3.53 USD

30 202752 Screwdriver 1 $0.95 USD

32 401165 Cheese head screw 1

33 489631 Turbo filter bag set TFS - ES 150 1 $29.00 USD

34 --- See catalogue 1

35 477964 Clamping 1 $0.95 USD

36 477962 Clamping 1 $0.95 USD

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=currentImageAndPartli...

2 of 2 12/1/2020, 12:46 PM


